ME-340 EXAM #3-A
FALL- 1998
DECEMBER 1, 1998

d:=0.25 C =152 D =Cd D =38
Nt =18 Na:=Nt- 2 Na= 16
G:-115.10°
kliﬂ k=64

(8 C*Na)

‘, 3 o _ 4
S it '~ 180-10 typ‘fs ult'0-45 typ‘ 8.1°10
KS::1.O4 KW::1.1

) _
Feaniq = —"—/ F i = 125.8
solid (8-C-K s> yp solid

F .

" solid _
dp:= . dp=197
dSO”d::d'Nt dSO|id:4'5
dS::dSO”d diidS‘FdF d=24.2

~ _ 4 5D
Say = 67500 Sus = 0.67s Sys= 1210

<Sew'sus> 4
Se =0.707- Se=7910
Sys~ (0.707Sgy)
Fmin =30 FmaX::QO
_ <Fmax*':min> Fo <Fmax* Fmin>

m 2 at 2
Fm=60 Fqt=30



. (S'Fmin'c'K s>
Smin =

p-of
S i = 1.9+10%
N = {Se'<sus’3minﬂ
° Se'<3 m~S min>*sus'S at

|



ME-340 EXAM #3-B
FALL- 1998
DECEMBER 1, 1998

d:=0.25 C =152 D =Cd D =38
Nt =18 Na:=Nt- 2 Na= 16
G =11510°
kliﬂ k=64

(8 C*Na)

‘, 3 o _ 5
s it~ 250-10 typ =S yir045 typ= 1110
KS::1.O4 KW::1.1

() _
Feaniq = —"—/ Feqjiq = 174.7
solid (8-C-K s> yp solid

F .

" solid _
dp:= . dp=273
dSO”d::d'Nt dSO|id:4'5
dS::dSO”d diidS‘FdF d=318

~ _ N
Sy |~ 45000 Sus = 0.67s Sys= 1710

<Sew'sus> 4
Se =0.707- Se=39-10
Sys~ (0.707Sgy)
Fmin =60 FmaX::120
_ <Fmax*':min> Fo <Fmax* Fmin>

m 2 at 2
Fm=90 Fqt=30



S min ~ o Sm-
S min = 39°10%
N = {Se'<sus’3minﬂ
° Se'(s m*Smin>*Sus'S at

|

N fS: 1.2



ME-340 EXAM #3-C
FALL- 1998
DECEMBER 1, 1998

d =.00635 C =152 D =Cd D =0.097
Nt =18 Na:=Nt- 2 Na= 16
G =80.810°
kj:ﬂ k: 111103
(8 C*Na)
L 6 o _ 8
S yit =1500-10 t yp =S ult'0-45 t yp~ 6.8°10
KS::1.O4 KW::1.1
_ _
o= : Fenliq = 676.1
solid (8-C-K s> yp solid
F .
" solid _
dpi= . dg=0.6
dSO”d::d'Nt dSO”d:O'l
dS::dSO”d diidS‘FdF d =0.707
S, =310-10° S, =067 S, = 1-10°
ew us ult us
S .S
S =0.707: SewSus Se=2810°
Sys~ (0.707Sgy)
Fmin '=133.50 Fmax '=391.50

oo

Fpy = 262.5 F gt = 129



p? "
S i = 13108
N = {Se'<sus’3minﬂ
° Se'<3 m~S min>*sus'S at

|

N o= 1.4



ME-340 EXAM #3-D
FALL- 1998
DECEMBER 1, 1998

d =0.25 C.=14.2 D =Cd D=35
Nt =16 Na:=Nt- 2 Na=14
G -115.10°
k- 49 oy

(8 C*Na)

. 3 .
S ult :=200-10 t ypfS u|t-0.45 t - 9.104

yp
Kgi=104 Kwi =11
_ (pef) _
E o= : Fenliq = 149.6
solid (8-C-K s> yp solid
F .

" solid _
dpi= . dp=167
d solig ~ Nt dsolig =4
dS::dSO”d diidS‘FdF
Say ' =45000 Sus =0.67s ¢

<Sew'sus> 4
Se =0.707- Se=4.2:10
Sys~ (0.707Sgy)

Fmin =80 F max = 140

_ <Fmax*':min> Fo <Fmax* Fmin>
m 2 alt 2
Fm = 110 F 4t =30




fs:

S min

- 4810

{Se'<sus’ S minﬂ

Se'<3 m~S min> +Sus'S at

|

N¢g= 1.1



ME-340 EXAM #3-A
FALL- 1998
DECEMBER 1, 1998
Problem #2

P =30720 E =30.10°

_(3ED
L3

k = 6.144-10%

I =10.7



ME-340 EXAM #3-B
FALL- 1998
DECEMBER 1, 1998
Problem #2

P.=30000 E =3010°

_(3ED

10

=27



ME-340 EXAM #3-C
FALL- 1998
DECEMBER 1, 1998
Problem #2

L =0.635 b:=.0508 d:=0.1016

P -133630 E =207-10°

_(3ED
L3

k=1.077-10"

(bd?)

12

11

| = 4.4010

6



ME-340 EXAM #3-D
FALL- 1998
DECEMBER 1, 1998
Problem #2

P = 61440 E =30.10°

_(3ED
L3

K = 1.229-10°

12

=213



ME-340 EXAM #3-A

FALL- 1998
DECEMBER 1, 1998
Problem #3
S ylt \= 180000 Syp '~ 0.75's it Sp =0.65's 1 Se'= 0.33-8p
-1 2e10° - .10° - 3.9.10%
Syp—l.4 10 Sp—l.17 10 Sg=3910
A;:=0.663 N =48
F. =095 A, F;=710"
i p Tt [
F.
si=— s | = 1.053:10°
At
P
. ._ ' total _ 5
P
Fb::7§Xt+ F, Fp, = 8.6-10*
F
sb::7b sb:1.3-105
At
s
_"YyP -
hypf? hyp-1.035
b
o <8'Pext> = E - 64-104 Joint separates, design is
m-Tg m-*> not satisfactory.

13



ME-340 EXAM #3-B

FALL- 1998
DECEMBER 1, 1998
Problem #3
Syt =190000 50 =0.85s Sp <0855y, S =038S
= L] 5 = (] 5 = L] 4
Syp*= 1.6°10 Sp =1.373°10 Sg=5210
A :=0.606 N =96
F. =09S_ A, F;=7510"
i T p i~
F.
si=— s | =1235:10°
At
- 14400000 P, - = 1.5:10°
Piotg -~ 144 Pext = N Pext = 1.5°1
P
Fb::7§Xt+ F, Fp, = 9.2:10*
F
Syt sp=1510°
At
s
Y -
hyp"? hyp—1.069
b
o <8'Pext> = F -5 8-104 Joint separates, design is
m-Tg m-> not satisfactory.

14



ME-340 EXAM #3-C

FALL- 1998
DECEMBER 1, 1998
Problem #3
Syt =180000 s =0.85s Sp =065 i S =038S
- 15102 _ 102 - A1
Syp—l.5 10 Sp—l.l7 10 Sg=4410
A :=0.606 N =24
F. =09S_ A, F;=6410"
i T p i~
F.
si=— s | = 1.053:10°
At
= 3600000 _ Prota = 1.5:10°
Ptotal = Pext = Pext =151
P
Fp= 2 F, Fp = 810"
9
F
sb::7b sb:1.3-105
At
s
Y -
hyp‘—si hyp—l.152
b
o <8'Pext> = E - 7.104 Joint separates, design is
m-Tg m- not satisfactory.

15



ME-340 EXAM #3-D

'=0.85's

=7.378°10

yp

Se=033S

8 _ 8
Se=24+10

_ 5
P ot = 6.667+10

FALL- 1998
DECEMBER 1, 1998
Problem #3
s it =124010° sy =070 Sp
—a7108
s yp= 8710 Sp
A{=56110° N =48
_ _ 5
Fi ‘70'9'Sp'At Fi =3.710
F.
si=t s | = 6.64+10°
At
P
_ 6 " total
Protd =3210°  Peq =
P
Fb;:%)% Fi Fp = 45°10°
F
sb::7b sb:8-108
At
S
_°yp
Myp = "yp
b
‘ <8'PeXt> - 22.10°
Fm' =g Fi Fp =221

16

Joint separates, design is
not satisfactory.



ME-340 EXAM #3-A

FALL- 1998
DECEMBER 1, 1998
Problem #4
d =125 de =15 dp =115
N =1 p =02 L=Np
P = 5500 a, =145 a=| P la,
180
. P-dp)[m-(p-dp)H-cos(a)} +m.P'dC
2 <p-dp-cos(a)f m-L> 2
h- (PL) h = 0.136
(2:p-T)
Ly _
N, =2 N, =10
t] t

17



ME-340 EXAM #3-B

FALL- 1998
DECEMBER 1, 1998
Problem #4
d:=1.50 dC::1.75 dp '=1.375 m:=0.125
N =2 p :=0.25 L:=N-p L=05 y:=2.0
P:=6600 a, =145 a = P Ay a=03
180
Pd m-(p-d,]+ L-cog(a) Pd
T = p)[ ) Lm- C T=1810°
2 <p-dp-cos(a)f m-L) 2
ho- (PL) h = 0.284
(2pT)
Y _
Ni=2 N,=4
t L t

18



ME-340 EXAM #3-C

FALL- 1998
DECEMBER 1, 1998
Problem #4
d=1.25 de. =138 dp '=1.15
N =3 p :=0.20 L:=N-p
P = 5000 a, =145 ai=| P
180
. Pd p) [m-(p-d p> + L-cos(a)} . m.P-dC
2 <p-dp-cos(a)f m-L) 2
h - (PL) h = 0.359
(2p-T)
Yy i}
N =2 N;=42
t | t

19



ME-340 EXAM #3-D

FALL- 1998
DECEMBER 1, 1998
Problem #4
d:=1.375 dC '=1.625 dp =125
N =2 p :=0.25 L:=N-p
P:=6600 a, =145 a.= L
180
. Pd p)[m-<p-dp> + L-cos(a)} +m.P'dC
2 <p-dp-cos(a)f m-L) 2
ho- (PL) h = 0.329
(2pT)
Y _
N, =2 N, =12
t L t

20



